
28

Add. 41-42A, Ashok Park Main, New Rohtak Road, New Delhi-110035
+91-9350679141

 (RANKING AND SEQUENCE)

1.

(1) 12 (2) 18

(3) 17 (4)  

(5) 

2. A D 

A 

D 

(1) 12 (2) 7

(3) 10 (4) 6

(5) 

3.  

(1) 4 (2) 2
(3) 3 (4) 5

(5) 

4.  

(1)  9 (2)  12

(3)  7 (4)  10

(5) 

5. R R D 

D 

(1) (2) 

(3) (4) 

(5) 

6. A, B, C, D E 

B C E A D 

C 

(1)  D (2)  C

(3)  B (4) 

(5) 

7. M J 

J Q M Q

(1) (2) 

(3) (4) 

(5) 

8. D F 

D F 

(1)  (2) 

(3) (4)

(5) 

9. 40

(1) 25 (2) 27

(3) 24 (4) 26

(5) 

10. Q P

L M N O

P

(1 N (2 O

(3 M (4

(5

11. T, K, V, O, M W T, M 

W K W 

V 

(1) O (2) T
(3) M (4) 

(5) 

12. K T M T

P B K 

(1) K (2)  B
(3) T (4) 

(5) 

13.

(1) 45 (2) 46
(3) 47 (4) 48
(5) 

14.

(1) 27 (2) 37
(3) 38 (4) 39
(5) 

15.

(1) 40 (2) 44
(3) 50 (4) 55
(5) 58
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16.

(1) 12 (2) 13
(3) 14 (4) 20
(5) 

17.

(1) 36 (2) 37
(3) 39 (4) 

(5) 

18.

(1)  3 (2) 7
(3) 12 (4) 23
(5) 

19.

(1) 18 (2) 19
(3) 31 (4)  32
(5) 

20.

(1) (2) 

(3) (4) 

(5) 

21. 39

(1) (2) 

(3) (4) 

(5) 

22.

(1) (2) 

(3) (4) 

(5) 

23. A D 

A D 

(1)  (2) 

(3) (4) 

(5) 

24.

(1) 23 (2) 24
(3) 25 (4) 26

(5) 

25. A B 

A B 3 C, A C

(1)  (2) 

(3) (4) 

(5) 

26.

(1) 3 (2) 5

(3) 6 (4) 

(5) 

27. P 

Q P R 

R, Q 

(1) 12 (2) 13
(3) 14 (4) 15

(5) 

28. 35

(1) 9 (2) 10
(3) 11 (4) 13

(5) 

29.

(1) 33 (2) 34

(3) 35 (4) 

(5) 

30.

(1) (2) 

(3) (4) 

(5) 
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31.

(1) 60 (2) 75

(3) 90 (4) 

(5) 

32. A B 

C A B

(1) 45 (2) 46
(3) 47 (4) 48

(5) 

33. N S 

T, N N S 

(1) 23 (2) 24

(3) 25 (4) 26

(5) 

34.

(1) (2) 

(3) (4) 

(5) 

35.

(1) 8 (2) 10

(3) 12 (4) 14

(5) 

36.

(1) (2) 

(3) (4) 

(5) 

37.

(1)  37 (2) 43

(3) 44 (4) 

(5) 

38.

(1) 21 (2) 22

(3) 23 (4) 24

(5) 

39. A B 

A 

(1)  23 (2) 27

(3)  28 (4) 31

(5) 

40.

(1) 21 (2) 22

(3) 29 (4) 

(5) 

41.

(1) (2) 

(3) (4) 

(5) 

42.

(1) 25 (2) 26

(3) 27 (4) 

(5) 

43.

(1) 

(2) 

(3) 

(4) 

(5) 
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44.

(1) (2) 

(3) (4) 

(5) 

45.

(1) 18 (2) 22

(3) 26 (4) 28

(5) 

46.

(1) (2) 

(3) (4) 

(5) 

: 

—

47.
(1) 5 (2) 13
(3) 14 (4) 16

(5) 

48.
(1) 6 (2) 13
(3) 14 (4) 18

(5) 

49.

(1) 6 (2) 10

(3) 12 (4) 

(5) 

50.

(1) 5 (2) 10

(3) 12 (4) 

(5) 
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RANKING AND SEQUENCE
1. 5; Total number children in the row

= 12 + 18 – 1 = 29
Thus, there are 29 – 13 = 16 children to the
right of Mohan.

2. 2; Total number of boys in the row
= 13 + 11 – 1 = 23

Position of D from the left
= 23 – 17 + 1 = 7th

3.  2; Total number of boys in the row
= 20 + 12 - 1 = 31

Therefore Mohan and Pratap between only
two boys.

4. 1; Total number of students in the row
= 12 + 27 – 1 = 38

Position of Kashi from the left
= 38 – 17 + 1 = 22

Thus, there were nine students between
Kashi and Ramesh.

5. 4; + 24    
Left  

+ 10   + 4 
D                R           Right

Hence D’s position from the left end of the
row = 24 + 1 = 25th

6. 5; A and D > B > C and E
Now, according to the question, C’s marks
are not the lowest. Hence E scored the low-
est marks.

7. 4
8. 1;

9th

Front

14th

Bottom

D

F

9. 2; Mohan’s position from left
= 40 + 1 – 14 = 27th

10.  4; L > Q > P > M > N o O
11. 1; W > T > M and V is the thinnest.

Thus, W > T > M > V
K or W is not the fattest. Therefore, O is the
fattest.

12. 2; According to question
M > K, T
B < T, P or P, T > B
And, K is not the lightest.
Thus, M > K, T > B
P, T > B

Therefore, B is the lightest among them.
13. 2; Clearly, number of students in the class

= (8 + 1 + 37) = 46.
14. 2; Clearly, number of boys in the class

= (18 + 1 + 18) = 37.
15.  4; Number of boys who passed

= (15 + 1 + 28) = 44.
 Total, number of boys in the class

= (44 + 6 + 5) = 55.
16.  2; Clearly, number of boys in the line

= (11 + 1 + 3) = 15.
 Number of boys to be added

= (28 - 15) = 13.
17.  5; Clearly, total number of boys in both the

rows
= (Number of boys in Jeevan's row) +
(Number of boys in Vikas' row)
= (6 + 1 + 10) + (9 + 1 + 11) = (17 + 21) = 38.

18.  3; Let the number of boys be x. Then, number
of girls = 2x.
  x + 2x = 60 or 3x = 60 or x = 20.
So, number of boys = 20 and number of girls
= 40.
Number of students behind Kamal in rank

= (60 - 17) = 43.
No. of girls ahead of Kamal in rank = 9.
No. of girls behind Kamal in rank

= (40 - 9) = 31.
 Number of boys behind Kamal in rank

= (43 - 31) = 12.
19.  4; Number of students behind Nitin in rank

= (49 - 18) = 31.
So, Nitin is 32nd from the last.

20.  3; Number of students behind Manoj in rank
= (31 - 7) = 24.

So, Manoj is 25th from the bottom.
Number of students behind Sachin in rank

= (31 – 11) = 20.
So, Sachin is 21st from the bottom.

21.  3; Sumit is 17th from the last and Ravi is 7
ranks ahead of Sumit. So, Ravi is 24th from
the last.
Number of students ahead of Ravi in rank

= (39 - 24) =15.
So, Ravi is 16th from the start.

22.  3; Divya ranks 26th and Bharati is 8 ranks
ahead of Divya. So, Bharati ranks 18th.
Number of students behind Bharati in rank
= (42 - 18) = 24. So, Bharati ranks 25th from
the last.

23. 2; Clearly, A is 13th from the left and 11th from
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the right end of the row.
So, number of boys in the row

= (12 + 1 + 10) = 23.
Now, D is 17th from the right.
Number of boys to the left of D

= (23-17) = 6.
Hence, D is 7th from the left end of the row.

24.  2; Clearly, number of boys in the row
= (6 + 10 + 8) = 24.

25.  1; Number of boys in the row
= (15 + 4 + 3) = 22.

C is just left of A. So, C is 14th from the left
end. Number of boys to the right of C = (22 -
14) = 8. So, C is 9th from the right end of
the row.

26. 1; Karan is 17th from the right end.
Number of boys to the left of Karan

= (29 - 17) = 12.
So, Karan is 13th from the left end. Also,
Rohit is 17th from the left end.
Clearly, there are 3 boys between Rohit and
Karan.

27. 3; Q is 9th from the right end and R is fourth
to the left of Q. So, R is 13th from the right
end.
Number of children to the left of R

= (40 - 13) = 27.
Thus, R is 28th from the left end. Also, P is
13th from the left end.
Clearly, there are 14 persons between P and
R.

28. 2; Number of students between Kunal and
Sonali = 35 - (7 + 9) = 19.
Clearly, there are 9 students between Kunal
and Pulkit, as well as Pulkit and Sonali. So,
Kunal is 10th from Pulkit.

29. 3; Number of boys in front of Richard = 14.
Number of boys behind Richard

= (14 ×  3) = 42.
 Total number of boys in the column

= (14 + 1 + 42) = 57.
In a column of 57 boys, the seventh boy from
the end is clearly 51st from the start. Thus,
we have to find the number of boys between
the 15th and the 51st boy, which is clearly
35.

30.  3; Number of boys to the left of Deepak
= (40 - 31) = 9.

So, Deepak is 10th from the left end.
Shreya is third to the right of Amit. So,
Shreya is 14th from the left end. Clearly,
Shreya is fourth to the right of Deepak.

31. 2; Amisha is 22nd from the top and Sajal is 5

ranks below Amisha. So, Sajal is 27th from
the top. Also, Sajal is 34th from the bottom.
 Number of students passed

= (26 + 1 + 33) = 60.
Let the number of students passed and the
number failed be 4x and x respectively.
Then, Ax = 60 or x = 15.
Hence, number of students in the class

= (60 + 15) = 75.
32. 3
33. 2
34. 3; There are two possible arrangements:

But since Priya is nearer than Natasha to
the right end of the row, so only arrangement
11 follows.
Number of girls to the left of Natasha in II =
[31 - (1 + 16)] = 14. Clearly, Natasha is 15th
from the left end of the row.

35. 2             36. 5 37. 2
38. 4; Clearly, George lies towards the left end

while Peter lies towards the right end of the
row. So, when Peter shifts towards George,
he shifts 3 places to the left. Thus, Peter is
now 15th from the right end. But, Peter is
10th from the left end.
 Number of children in the row

= (14 + 1 + 9) = 24.
39. 1; Clearly, A's new position is 15th from the

left. But this is the same as B's earlier
position which is 9th from the right.

40. 3; Sachin's new position is 15th from the right
as well as the left end of the row.
 Number of students in the queue

= (14 + 1 +14) = 29.
41. 2; Deepti's new position is 17th from the left

and 13th from the right.
So, number of children in the row

= (16 + 1 + 12) = 29.
Now, Kashish's new position is Deepti's
earlier position which is 9th from the left.
 Number of children to the fight of
Kashish = (29 - 9) = 20.
Hence, Kashish's new position is 21st from
the right.

42. 2; Since Rita and Monika exchange places,
sp Rita's new position is the same as
Monika's earlier position. This position is
17th from the right and 10th from the left.
 Number of girls in the row

= (16 + 1 + 9) = 26.
43. 3           44. 1 45. 2
46. 4; Vilas is 26th from left and Kewal is 10 places

to the left of Vilas. So, Kewal is 16th from
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left. Now, there are three boys between
Kewal and Satish. So, Satish may be 12th
or 20th from left.
Since the exact position of Satish cannot
be ascertained, so the given data are
inadequate.

47.  3; Clearly, Beena's new position is 15th from
the left and 4th from the right.
So, number of students in the row

= (14 + 1 + 3) = 18.
Neena's original position is 5th from the
right.
Number of students to the left of Neena

= (18 - 5) = 13.
Hence, Neena's original position is 14th
from the left.

48. 2; Reena is 6th from the left.
Number of students to the right of Reena

= (18 – 6) = 12.
So, Reena's position is 13th from the right.

49. 1; Neena's new position is Reena's earlier
position which is 6th from the left.

50. 3; Meena's new position is Beena's earlier
position which is 7th from the left.
Number of students to the right of Meena

= (18 – 7) = 11.
So, Meena's position is 11th from the right.


	5. RANKING AND SEQUENCE
	RANKING AND SEQUENCE



